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Q.1 The beams provided over trusses to support a sloped roof which can be designed as a simple or continuous or cantilever
beams are called:

Ans X 1. joists
v 2 purlins
X 3 girders
X a4 girts

Question ID : 3093241274
Status : Answered
Chosen Option : 1

Q2 Which of the following is used asdrierin varnish?
Ans o 1. Litharge

/< 2. Copal

X 3. Mastic

< 4 Turpenting

Question ID : 3093241201
Status : Answered
Chosen Option: 1

Q.3 “For a steady, ideal flow of an incompressible fluid, the total energy at any point of the fluid is constant” refers to:

Ans

/< 1. Euler’s equation
/< 2. moment of momentum equation
/< 3. momentum equation

+ 4 Bernoulli’s equation

Question ID : 3093241241
Status : Answered
Chosen Option : 4




Q4 An indeterminate beam can be analysed by using:

Ans

/< 2. equations of motion

Vs

equations of equilibrium along with compatibility conditions
7< 4. compatibility conditions only

X 1. equations of equilibrium only

Question ID : 3093241313
Status : Answered
Chosen Option: 3

Q5 =ify @ & T HER F Meren @ § AR s eafy R @Esy) @ &

e K g, ey
X 2 |e, Fer
v 2 The, el
X 4 FTel, H%e

Question ID : 3093241350
Status : Answered
Chosen Option: 3

_— @ @= =

Q.6 When tested by Vicat’s apparatus as per IS: 12600 — 1989, initial se@i@&ﬁmﬁ%ﬁ&m heat cement is NOT less

than:

A of 160
< 290
X 3 30
X 4120

Question ID : 3093241208
Status : Answered
Chosen Option : 4

Q7 Turbldltym water is a measure of*
Ans 5 1 Chemieal oxygen demand

/< 2. pH of water
3. Floating objects
v + Suspended solids

Question ID : 3093241254
Status : Answered
Chosen Option : 4

Q.8 ux vz $ oo oA 99 FH @ T ¢ I o5 [ T A5 H F9E Io% o Aen F
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Ans

< 1. 200
v 2100
X316
X 4 150

Question ID : 3093241276
Status : Answered
Chosen Option: 3

Q.9 The sign of decay appearing in the form of yellow or red tinge or discolouration of over mature trees is known as:

Ans

# 1. braces
X 2. knots
#< 3. shakes
v 4 foxiness

Question ID.: 3093241215
Status: Answered
Chosen Option : 4

Q.10

Ans

15:456-2000 % TER, HWIUT ST & BIACT F, Toer AR A FARAR oI & v Hagg, T w5
O ALY AT 9 ASl AT §, 3 GHed & HHE Vg % T & TOET FH S 8,

ST fy = H1F T FEE F RET @ ¥ (= 415 Nimm?), agy =9e BRI HOEE SEe S 8T

% o = #Er % o3 AR 9 & g & F= w7 A

«‘I. VUS = D.B?f}rasvSinﬂ

X2 Vyg = 0.87fyagysin? a)

X3 Vg
x4. VUS = DBSf}rasvs|nﬂ

Q.11

Ans

0.85fagy(sin? a)

Question ID : 3093241334
Status : Answered
Chosen Option: 1
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Question ID : 3093241205
Status : Answered
Chosen Option : 1
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Question ID : 3093241225
Status : Answered
Chosen Option : 2

Q.13 A cantilever beam of span 6 m is subjected to a point load of magnitude 40 kN at the free end. Deflection at the free end
will be: (Given EI is constant throughout the length)

Ans 720

. =
o 2 2880

EI
1440

X3 —

EI

x4ﬂ

El

Question ID : 3093241308
Status : Answered
Chosen Option: 1

Q.14 A cantilever beam of span 4 m carries a gradually vm%g»lg@fzero m’aeﬁsﬂy at the free end to 3 kKN/m at the fixed end.
Magnitude of shear force at the fixed end will be:

Ans - X 1. OKN
v 2 6kN
X 3 8KN
X4 12KkN

Question ID : 3093241310
Status : Answered
Chosen Option : 4

Q.15 AsperlS:i456— 2000, in design of columns, the cross-sectional area of longitudinal reinforcement shall not be less than
nor more than of gross cross-sectional area of column.

s %1 0.8%. 5%
X 2. 0.6%, 6%
o 3. 0.8%. 6%
X 4 0.6%, 5%

Question ID : 3093241333
Status : Answered
Chosen Option: 3




Q16 Terzaghi’s analysis of bearing capacity considers:
Ans 51 wedge failure

X 2. local shear failure

3. general shear failure

< 4. punching shear failure

Question ID : 3093241298
Status : Answered
Chosen Option : 3

Q.17 vz veR ¥ AT Oy, s & %a 4 m? &, 31fF TR 1 m & # 100 § 1 & zo= wx Bom
Sar & AT o N = 0.01 &, @ & fFdga & o fifswe

Ans of 1. 4 cumecs
/< 2 2 cumecs
# 3.1 cumec
X 4 3 cumecs

Question ID : 3093241257
Status : Answered
Chosen Option : 2

—
Q.18 Intrapezoidal method to calculate the volume of earthwork required it is %umeﬁat fﬁma of cross section varies:

Ans  of 1 linearly
/< 2. uniformly
/< 3. parabolically
/< 4. spirally

Question ID : 3093241235
Status : Answered
Chosen Option : 1

Q.19 A counterfort retaﬁlg'wgiwﬂfbe designed when the height of backfill to be retained exceeds:
Ans x 112 m

K2 9m

X3 3m

v 6m

Question ID : 3093241315
Status : Answered
Chosen Option : 4

2 PromEser FUNT T 52 W FUN FT FAT FET ST B2
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Question ID : 3093241261
Status : Answered
Chosen Option : 2

Q2 P E R AeE T @ffT 2 § 9 g5 guas R o f
Ans o 1.15-20 cm

X2 0-2 cm

#<3.100-150 cm

& 4. 50-60 cm

Question'ID:: 3093241323
Status : Answered
Chosen Option : 1

Q.22 Revised estimate is prepared when the original sanctioned deta;iled‘esﬂmat@%eé@gby:
Ans X 1. 10%

X2 3%

X3 15%
v 4 5%

Question ID : 3093241226
Status : Answered
Chosen Option : 3
—_—
Q.23 As perIS: 456 — 2000, the maximum area oi%?ion reinforcement in a beam shall not exceed , where b=

breadth of beam, D = overall depth of beam
Ans X 1. 0.06bD
X 2 0.12bD
X 3.0.08bD.

Question ID : 3093241328
Status : Answered
Chosen Option : 4

0% it $raz @ Ee FEE Aregw ¥ B s §e
Ans X 1. HEET HIEEA
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X s gued
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Question ID : 3093241265
Status : Answered
Chosen Option : 2

Q.25 For which type of soil, an in situ geotechnical testing method, i.e. ‘vane shear test’ is used?
Ans X 1. Sandy silt soil

X 2. Gravelly soil

/< 3. Sandy soil

v+ Soft soil

Question ID : 3093241304
Status : Answered
Chosen Option : 3

Q.26 zfy G art AT BOD & iy =ufea deer= F#er: 100 g 3R 50 g &, & Freifem o maref &
1000 mg 3Ter 3ERSE % 20000 Lpd % BT AFEEAT FRGeddT & Id7 #e|

Ans X1 100
X2 150
v 3 200
X 4 250

Question ID : 3093241270
Status : Answered
Chosen Option : 3

_—

ans’f@io 3 m) with mild steel reinforcement.

Q.27 AsperIS:456— 2000, for simply supported two-way slab: rt
vertical deflection limits for loading class up to 3 KN/m is:

the span to overall depth ratio generally assumed to sati 1

Ans X1_ 30
< 240
X 3 45
v 35

Question ID : 3093241329
Status : Answered
Chosen Option: 2

Q.28 Noment of inertia of circular plane lamina about its centroidal X-axis is given by:
Ans R4

X =

32

XQ“_R‘

16

Vv =

4

X4“_R‘

g

Question ID : 3093241306




Chosen Option: 1

Status : Answered

Q29 The stem of a counterfort retaining wall is designed as:
Ans 5 1. simply supported slab
v 2. continuous slab

/< 3. overhanging slab

/< 4. cantilever slab

Question ID : 3093241307

Chosen Option : 4

Status : Answered

Q.30 Find the moment of inertia of a rectangular hollow section about its centroidal X-axis, if the external dimensions are 80
mm deep and 30 mm wide and internal dimensions are 50 mm deep and 20 mm wide.

Ans X 1. 428667mm*
v 2 1071667 mm*
< 3.2143334 mm*

& 4 535834 mm*

Question ID : 3093241305

Chosen Option : 2

Status : Answered

Q.31 220,00,000/- & FFTE W T 7 HueT & v afE gEwEw Fr oW TrifE wBw & SRt
shesr-arer Heaer $r T o B g 20 9 &)

A o1 ¥1,00,000 9f aF
X 2 790,000 9fy a%
X 3 795,000 wfy 9%
X 4 760,000 FfE TF

Question ID : 3093241221

Chosen Option : --

Status : Not Answered

Q.32 grdierror 3t FrdewlT 3 # A ¥ BT R F € BE 39 & suge B e 2
Ans x1_ T

K 2 FeT
v FREIG @I
= e

Question ID : 3093241264

Chosen Option : 1

Status : Answered




Q33 Gypsum added in manufacture of Portland cement is:
Ans 1. to increase heat of hydration

V 2. to prolong the setting time of cement

/< 3. to gain colour properties

/< 4. to promote flash set of cement

Question ID : 3093241318
Status : Answered
Chosen Option : 2

Q.34 AsperIS: 1172-1963, water required per head per day for average domestic purposes. is:

Ans X' 1.95L
X2 64L
X3 35L
v 4 1351

Question ID : 3093241248
Status : Answered
Chosen Option : 4

Q.35 |3 10262 : 2009 ¥ ¥R FHE F BT Besa #, 25 mm-somm#ﬁ%"’%aa:ﬁvm%
T 186 L WIE 71| iy fEaTT @ 100 mm TET I & T fensa fRAT T an, & o A s

2rfr (3T FEEr # B TEe)?

Ans of1.197 L

X 21804 L

X31916 L

<4186 L

Question ID : 3093241319
Status : Answered
Chosen Option: 3

Q36 The nomiq_al@_gﬁ@@ib of My concrete grade is:
Ans 1. 16 2«:3‘

X21:19

v31:3:6

Xa1:2:4

Question ID : 3093241320
Status : Answered
Chosen Option : 3

Q37 For a flexible footing, the distribution of contact pressure is uniform in:

Ans X 1. sandy Soil
/< 2. clayey soil




X 3. silty Soil
« 4. all types of soil

Question ID : 3093241294
Status : Answered
Chosen Option: 1

Q38 o zvaw R & uRe ERt @ FHe F T F IR BFES ATR ¥ BR ST 7

Ans X1 ToRATES
& 2 T ITER

v 3 s 1 wieET
X4 O Ahe

Question.ID : 3093241322
Status : Answered
Chosen Option: 3

Q.39 Estimate the quantity of wood for a frame of the size 8 em x 12 em in a window of the size 1.5 m x 1 m. v@‘jﬁgﬂl

horns.

A1 0.048 m?

Ans

v 2 0.052m3
2 3 0.050 m?
& 45200 m®

Question ID : 3093241229
Status : Answered
Chosen Option : 1

Q.40 If stirrups of 8 mm © are provided, find the spao@ of sticrps. (Given: ¢ = 0.79 MPa. Ty = 1.08 MPa, width of beam b

=250 mm, fy = 415 N/'mm?)

Ans 1. 200 mm
X 2. 280 mm
#3230 mm

v 250 mm

Question ID : 3093241335
Status : Answered
Chosen Option : 3

Q.41 T w=ox (widew B9e) W 12 m TiET T gedud 9 ST ¢ e fEa a5 eaw (Fs ')
11 ST e s mE AT s 200 m F 300 m FF FET I & dma Em= 50 #F 1§

g & g (o 3F) F IEew A AT

Ans 1. 125000 m®
X 2 325000 m®
& 3225000 m°>




v 4 425000 m’

Question ID : 3093241217
Status : Not Answered
Chosen Option : --

Q42 M\ost commonly used pump for lifting water in water supply mains, is:
Ans X 1. Rotary pump

/< 2. Reciprocating pump

/< 3. Centrifugal pump

' 4 Axial flow pump

QuestiondD.: 3093241252
Status : Answered
Chosen Option: 3

Q.43 AsperlS:i456— 2000, in design of footing, the bearing pressure on loaded area shall not exceed the permissible hjiéi@d
stress in direct compression multiplied by a value equal to . (Al = supporting area for bearing of footing, A2 =
loaded area at the column base)

Ans

X ﬁJ% but not greater than 2
A1

v 75 but not greater than 2

x s vﬁ% but not greater than 2

o Al
7.
X 4 ~, but not greater than 2

Question ID : 3093241336
Status : Answered
Chosen Option : 2

Q.44 Calculate the quantity of bleac@ng@wdem@‘ired per day for disinfecting 2 million litre per day. (Take dosage of
chlorine as 1 ppm and bleacl%ovﬁer contains 40% available chlorine.)

Ans X 1. 8kg

<2 6kg

W3 10ke

K4 4ke

Question ID : 3093241249
Status : Answered
Chosen Option : 4

Q.45 As per15:456 — 2000, development length Ld of bar is given by . where @ = nominal diameter of bar, o, = stress

in bar at the section considerad at design load, 1pq = design bond stress.
Ans X1 Lg=0rtpq/ 40,
X 2 Ly=00,/ 8Thd




X3 Lg=0tpq/ 804
v 4 Ly=00./ 4thq

Question ID : 3093241331
Status : Answered
Chosen Option : 4

Q.46 yFaRHE. FA=E & HGER, @ T & 3T T w10 9w F g S Fehe # Tiwr
F W A H sits w5 #F it 7 @ =fem

Ans X 1. 10%
X2 15%
v 12%
X 4 18%

Question.ID : 3093241344
Status : Answered
Chosen Option: 2

qu

Q47 The energy loss in case of venturimeter when compared to ariﬁce;gm;.
Ans X 1. more

v 2 less
/< 3. depends on type of liquid

X 4 same

Question ID : 3093241242
Status : Answered
Chosen Option : 2

Q48 The slope at the fixed endd'gf a-cﬁwer beam will be:
Ans X 1. maximum

v 2 zero

#< 3. minimum

X 4 negative

Question ID : 3093241314
Status : Answered
Chosen Option : 2

Q49 Aerobic bacteria combining with oxygen is called:
Ans X 1. Deoxidation

' 2 Oxidation

/< 3. Decomposition

& 4 Decarbonation

Question ID : 3093241268
Status : Answered




l Chosen Option : 2

Q.50 = =T o 34,00,000/ T FH TF AerA F AT T sHA afiy S o i @ E 10 v
T1E 7T SAO-ANTT & AT ¥ 5% TAfs s # & ¥ s S W I & I I %o e
fafer (ffFer o) & ofr e #ifSw) Mem =GR 37 @ 3Efse g5 #4 (scrap value of
the warehouse) FT JFTT & 10% I 1oa&a:ﬁvmsmmﬁm5%ﬁrsfroo795¢w
Tt g 2

Ans o 1. 328,622
X 2. 331,600
/< 3 31,800
< 4. 326,622

Question ID : 3093241220
Status : Not Answered
Chosen Option':. --

Q51 A soil sample has porosity of 40%. The void ratio of the soil is:
Ans of 1.0.67

K205

X304

X 4033

Question ID : 3093241280
Status : Answered
Chosen Option : 1

Q.52 The time elapsed between the moment at which water added to the or
ordinaty Portland cement paste completely lost its plasho@%shou

Ans 1. 700 min

i az%and cement and the moment at which
T be greater than:

v 2 600 min
X 3. 500 min
< 4 800 min
Question ID : 3093241206
Status : Answered
Chosen Option : 2
——— .

Q.53 mrmw 5@ 1 A B W HS # G ot § Eaea BT S G 8, F o w8
M g g

X 2 e AT

X 3 confEes dar

& 4 FaEIoT AT

Question ID : 3093241284
Status : Answered
Chosen Option : 4




Q.54 The over consolidation ratio for normal consolidated soil is:

Ans X 1. <1

V21

P |

x40

Question ID : 3093241287
Status : Answered
Chosen Option: 3

Q.55

Bituminous slates used for roofing, generally in hilly areas are:

Ans

Z 1. mastic slates
X 2. Trafford slates
v 3 Eternits

< 4 Slates

Question ID : 3093241212
Status : Answered
Chosen Option : 2

_—

% ot e RO TF A, wrE o FEs agm@?ﬁ#m 22
Ans X 1. D90

X 2 D60

v': D10

X 4 D30

Question ID : 3093241283
Status : Answered
Chosen Option : 3

@57 During compaction activity:
Ans X 1. soil solids expel
/X 2. porgwwater expels

/< 4. structural water expels

Question ID : 3093241285
Status : Answered
Chosen Option: 3

Q58 YWhich of the following is NOT an outgoing of a building?
Ans 5 1. Repair of the building
v 2. Scrap value of the building




X 3. Tax on the building
p

Electric charges for running the common facilities in the building

Question ID : 3093241224
Status : Answered
Chosen Option : 2

Q.59 wF av TeT TeEET # v Ry $ gl 9w 30.00 7Y m? # W T 4 m Y R F AE

#r s T R
Ans 1. 2,000
X 2.32,00,000
7< 3. ¥20,00,000
v 2 20,000

Question'ID : 3093241233
Status : Answered
Chosen Option : 2

_— =

Q.60 TE HOTER e & SiEE gEE TEUE A GEE 1 3 1 mis & 3fwe @ X e 4 Cumee

ar drey #r e feaer 72

Ans of1.20 m

X210 m

K325 m

K415 m

Question ID : 3093241262
Status : Answered
Chosen Option : 3
_ =

Q.61 Irzwems F 3ER, TS b ¥ SRR F Y FAgeT =, b = & 7 # o= B

=& 'a' e o e @ T & 3R h wE & A R
A o1 16a? +h?=0.675h ¥ a < 1.724 ‘b’

X 2VIBa’+ h? —0675h T a > 1.724 ‘W’
X 3. V1.6a2+h? —0625h 5 a < 1.724 ‘b’
X 4+/1.6a2 +h?—0625h ¥ a > 1.724 ‘W

Question ID : 3093241341
Status : Not Answered
Chosen Option : --

Q.62 w [SLC 300 @ 324.7 Nim (Fe 410 ¥18) &I 10 mm HIET T8 S § =51 =1 §1 Tig Jo8 &7

¥R b mm @ 2S5 &, & 455 € Aeagr 7 A
Ans X1 601.56 N/mm
# 2. 750.55 N/mm




X 3.457.76 N/mm
v 4 552.33 N/mm

Question ID : 3093241272
Status : Not Answered
Chosen Option : --

Q63 Generally in soil mechanics, soil is considered as:

Ans 1. one-phase system
2. three-phase system
7< 3. five-phase system

7< 2. two-phase system

Question.ID : 3093241278
Status : Answered
Chosen Option: 2

Q.64 Asper IRC standards, the maximum super elevation that can be provided on hill road not bound i_))fr;m%;s:
Ans x 1. 704

v 2 10%

X 3. 8%

X 4 4%

Question ID : 3093241343
Status : Answered
Chosen Option : 3

Q.65 The type of stone used generally for masonry worﬁ%ustr@ea exposed to smoke and chemical fimes is:
Ans 1. limestone

& 2. sandstone

« 3. granite

X 4 marble

Question ID : 3093241204
Status : Answered

Chosen Option : 2

Q.66 As perIS:456 —2000, the relationship between flexural strength (fr) and compressive strength (fek) of conerete is
given by:

Ans X 1. fer = 0.45fck N/mm?
X 2 for = 0.45v/fck N/mm?
v 3 for = 0.7/ick N/mm?
X 4 fer = 0.7fck N/mm?

Question ID : 3093241325
Status : Answered




l Chosen Option: 3

Q.67 The minimum roadway width on single lane bridgeis _ as per IRC standards.
Ans X1 7.5m

/2 9m

V3 425m

X4 625m

Question ID : 3093241340
Status : Answered
Chosen Option: 1

Q.68 When the angular number of an aggregate _sample is 2, it indicates that the aggregates are more.

Ans X 1. partly rounded
v 2 rounded
/% 3. angular

X 4 flaky

Question ID : 3093241345
Status : Answered
Chosen Option : 4

Q99 ofy sree =urE d & A 1S 800 : 2007 F IHFAR T R gl
Ans J1, 2 5d

< 2 2d

<3 1.7d

X4 d

Question ID : 3093241271
Status : Answered
Chosen Option : 1

07 Grmfafte & WfEE ateT #, Reea @ oF Beila der §2
Ans ey TE‘ Y

& 2 3 HAIRIUT gLefoT

V' 5 YoTET IURIUT TLIRTOT

& 4 et gderor

Question ID : 3093241296
Status : Answered
Chosen Option : 4

Q71 Settling the sewage in the presence of excess oxygen is called:

Ans 1. digested sludge




X 2. indigested sludge
« 3. activated sludge
/< 4. deactivated sludge

Question ID : 3093241266
Status : Answered
Chosen Option: 3

Q.72 1If 1% solution of a sewage sample is incubated for 5 days at 20°C and depietion of oxygen was found to be 3 ppm.

BOD of the sewage is:
Ans X" 1. 225 ppm
/< 2. 200 ppm
v 3 300 ppm
/< 4. 250 ppm
Question'|ID: 3093241258
Status : Answered
Chosen Option : 1
——
Q.73 As perIS:456 —2000, in design of flexural members, for curtailment, reinforcement shall extend b __thhei%;t at
which it is no longer required to resist flexure for a distance equal to . whichever is greater, exceptaat simple
support or end of cantilever. )
Ans

.

the overall depth of the member or 12 ti es I;y%a@ E%meter
2 _

the overall depth of the member or 16 t@s the bar diameter
r 3

the effective depth of the me@j@gﬁjr ;ﬁ’limes the bar diameter
v |

the effective depth of the member or 12 times the bar diameter

Question ID : 3093241330
Status : Answered
Chosen Option : 1

Q.74

The square roat of time fitting method is used to determine:

Ans 5 1 coefficient of permeability

/X 2. compaction

v 3. coefficient of consolidation

X 4 stress distribution under soil

Question ID : 3093241295
Status : Answered
Chosen Option: 3

Q.75 A water supply scheme has to be designed for a city having a population of 100,000 people. If the average consumption

is 250 Lped. the estimated average daily draft is:




Ans X' 1. 35 MLD
X 2 15MLD
X 3 45 MLD
v 4 25 MLD

Question ID : 3093241250
Status : Answered
Chosen Option: 3

Q.76 graew dEE F FHE FA F ITUET FU T G M15 35 F Fhe & B = #ir deie #7
AUFAH AT FT g, FE HAL0T TR AeRA w0 A

Ans X 1. 0.45
X205
v 06
X< 4 0.40

Question ID": 3093241317
Status : Answered
Chosen Option : 4

Q.77 When tested by Le-Chatelier method as per [S: 4031 — 1988, unaerated ordinary rapid hard%cememu%&OT
have an expansion of more than:

Ans o 1. 10 mm
2 20 mm
2 3 30 mm
/X 4 25 mm

Question ID : 3093241207
Status : Answered
Chosen Option: 1

Q78 Which of the following growth curves follows S-shape?
Ans X 1. Coliform

# 2. BOD

< 3. COD,

v 4+ Population

Question ID : 3093241253
Status : Answered
Chosen Option : 4

Q.79 The cement that is the same as blast furnace cement except that the blast furnace slag is ground wet and separately from
cement is:

Ans 1. pilwell cement

< 2. expansive cement
' 3 Trief cement
2 4. high alumina cement




Question ID : 3093241213
Status : Answered
Chosen Option : 4

Q.80 1p a flow net, the angle (in degree) between equipotential line and stream line is:

Ans

X145
v 2 90
X3 0
X 4 30

Question ID : 3093241282
Status : Answered
Chosen Option : 2

Q.81 |5 1200 % HFOR, ToEal & AOA # WeT S0 F e i @ 9alt & aega & S § o

Ans

WA ST &1 SIF &

X 1. 5m® ¥ o=
X2 1m® ¥ A
v :3m® @ 38
X4 2m® o e

Question ID : 3093241228
Status : Answered
Chosen Option : 2

Q.82 thﬁmmtmmﬂﬁﬁﬁ%ﬁmmmm i

Ans

X107 m2 @ &H
v205m¥FR
X306 me ¥ FH
X401 mea &

Question ID : 3093241227
Status : Answered
Chosen Option : 4

Q83 Which of the following is NOT a characteristic of real fluid?

Ans

75 1. Viscosity
/< 2. Compressibility
/< 3. Surface tension

v 4 Incompressibility

Question ID : 3093241238
Status : Answered
Chosen Option : 4




Q.84 A simply supported beam of span 3 m carries point loads of magnitude 10 KN each at 1 m and 2 m from the left support.
Magnitude of shear force at the left support is:

Ans o 1. 10KN
X2 5KN
X 3 30kN
X 4 20kN

Question ID : 3093241312
Status : Answered
Chosen Option : 1

Q.85 Ina Standard Penetration Test the number of blows required for penetration of ground for 15 em, 30 cm, 45 cm and
60 cm from ground level are 2, 4, 7 and 9. Then the observed SPT value is:

Ans  of 111
X209
X322
X4 6

Question ID : 3093241288
Status : Answered
Chosen Option : 1

Q.86 Ify v W F W 225 mm ¥, & -0 AT T 0.8 mis F TE-FEE §91. 309w A F B
HiaemsF Tenst T grefr?

e X190 #F 1
X260 F1
V'3 120 7 1
X4 160 & 1

Question ID : 3093241260
Status : Not Answered
Chosen Option : --

Q.87 fr=fafm & @ FEEER & eRa § T F AUA § S A & e da g 7
Ans X deEa

X 2 preheT

X 3. wifE

v 4 T

Question ID : 3093241243
Status : Answered
Chosen Option : 3

Q.88 @ ey & WATFAHR FTHEY AT (FHEs FE GFA) FeA WX wiss 10 m, R @
(\EE F) 20 1 (8 @ F) (w9 ) 3 Aee s 1 m ) 200 m wEE & fow T & ogers end
o) T A WS RS AG o F FE A T A g

< 12000 m®

Ans




< 2 2200 m®
V'3 2400 m®
< 4 2100 m*

Question ID : 3093241230
Status : Answered
Chosen Option: 3

Q8% The ratio of volume of voids to volume of soil solids is called:
Ans X 1. porosity

v 2 voids ratio

/< 3. percentage air content

/< 4. water content

Question ID.: 3093241289
Status: Answered
Chosen Option : 2

Q.90 Tywo primary settling basins are 26 m in diameter and 2.1 m in depth. If the discharge is 26000 m® petday, and the
detention time is 2.40 h, calculate the volume of the tank.

Ans X1 1200 m?

X 2 1250m3

X3 1350 m?

v 4 1300m?

Question ID : 3093241251
Status : Not Answered
Chosen Option : --
_— ==
Q91 Frmfafg # ¥ i & so-ge SRRV (G- #¥em) & ST & fBre swers e ardr
W= e 87

K. e g T Regd 9
X 2 fesfemmr Ut (CERTSRT) T @ Mo
X Em;:r TARIF FHS FHT 3T
v 4 TR W 9 & SEeE

Question ID : 3093241324
Status : Answered
Chosen Option : 1

Q92 Haavy mineral material found in raw sewage is called:

Ans o 1. grit

/< 2. gravel




3 silt
/< 4. glass

Question ID : 3093241267
Status : Answered
Chosen Option : 1

Q.93  AsperIS:456 — 2000, regarding slenderness limits, a simply supported or continuous beam shall be so proportioned that

the clear distance between the lateral restraints does not exceed . whichever is less, where d is the effective depth
of the beam and b the breadth of the compression face midway between the lateral restraints.
Ans 150b2
X1 —or30b
d
150b%®

X2 = or60b

¥
X s 25? or30b

z
(4. 25:]3 O‘fﬁﬂb

Question ID : 3093241332
Status : Answered
Chosen Option : 4

Q94 The reason for using curved vanes over flat vanes in a hygguﬁwme is:
Ans % 1. high velocity jets can be used

& 2 low maintenance cost

3. higher hydraulic efficiency ca;Mtajned

#< 4. convenience of machining

Question ID : 3093241244
Status : Answered
Chosen Option: 3

Q.95 Varnishes which have mﬁbji@d spirit of wine in which soft resins are dissolved are known as:
Ans of 1. lacquers:

2 cutbaek
X 5. turpentine varnishes

/< 4. oil varnishes

Question ID : 3093241214
Status : Answered
Chosen Option : 3

Q.96 As per IS:456 — 2000, the effective length of cantilever beam shall be taken as:
Ans 1. its length to the face of the support plus the effective depth

X2
its length to the centre of the support plus the effective depth




v &)
its length to the centre of the support plus half the effective depth

p
its length to the face of the support plus half the effective depth

Question ID : 3093241327
Status : Answered
Chosen Option: 1

Q97 which of the following building quantities is measured in cubic metre?
Ans o 1. Brick masonry

/< 2. Plastering

/< 3. Damp proof course

/< 4. Flooring

Question ID: 3093241223
Status : Answered
Chosen Option : 1

Q98 e ZaT Sew EETER & R TiRa v v e £ s TE B g 22

M X z= (20+2)

V2 I= (15+ )
X3 Z= (15+
X4 Z= (20+ —)

Question ID : 3093241245
Status : Not Answered
Chosen Option : --

Q.99 A curve comect%ﬁmﬂg%el{m’ the ground surface of equal vertical pressure is called:
Ans ( 1. I&Dhm‘

X2 iso%

/< 3. isobath

< 4 isochrone

Question ID : 3093241281
Status : Answered
Chosen Option : 4

Q.100 Which of the following is a field test to determine hydraulic conductivity of soil?
Ans 1. Triaxial test

/< 2. Consolidation test




/< 3. Constant head permeability test
+ 4 Pumping out test

Question ID : 3093241277
Status : Answered
Chosen Option : 3

Q.101 Calculate the population equivalent of a city, given the sewage released is 100 MLD with average BOD at 5 days is 200
mg/L and the domestic sewage quantity released is 0.1 kg per person per day.

Ans X1 250000

& 2. 275000
v 3. 200000
< 4. 300000
Question ID : 3093241269
Status: Answered
Chosen Option : 2
Q.102 In estimating the cost for earthwork excavation. normally an extra rate is provided for every lead of and | @ of

Ans 51 30cm. 1.5 cm
2 30m 3m
X3 45m, 2m
o 2 30m 1.5m

Question ID : 3093241232
Status : Answered
Chosen Option : 3

Q.103 A simply supported beam has a span of 8 m and it is sub%,‘mymfm load of 60 kN and EI is constant throughout the
length. Magnitude of the slope at any support will be:

Ans 640

XL

El

Xzﬁ

El
240
s —
EI
. 1280
EI
Question ID : 3093241309
Status : Answered
Chosen Option: 1
Q.104 |5:456-2000 & 37@R, F AT HIFAUT FT TEA F & T FIEA0r Fedewor gere B 5

TFar £ 1. = T S % FROT FOwIUT g9 §, Vu = AT S & ST Aawur T g,
Vus = FTEI0T GEEEA0T F WEE, b =47 $ I8, d =67 # g e

Ans 1. Vus + 1_bd
X 2 Vus-1.bd




v 3 Vurt.bd
X4 Vu+ t.bd

Question ID : 3093241326
Status : Answered
Chosen Option : 4

Q.105

TS FET TS H HIGRA HCTH FAT §2
K wfee et

v g

X 3 TAfEaT

X 4 g

Question ID : 3093241290
Status : Answered
Chosen Option : 2

Q106 = [S: 4031 & @R =% 7 Rt & fre odwrr feer omen 8, & w9 s A GEdE @ 7

Ans X 1. 85 callg
v 2. 65 callg
X 3. 75 callg
< 4 b5 callg

Question ID : 3093241211
Status : Answered
Chosen Option : 1

Q107 Heating asphalt withsand and mineral fillers produces:
Ans 1. distilled asphalt

X2 aspha@f%zzo

X3 @ﬂ%&h

 + mastic asphalt

Question ID : 3093241202
Status : Answered
Chosen Option : 4

Q.108 Which of the following statements is NOT true, regarding the largest size of aggregate to be used in conerete?

Ans 1. The maximum size of aggregates is limited by clear cover

X2

The maximum size of aggregates is limited by spacing of reinforcement

v s




The maximum size of aggregates is not limited by mixing, handling and placing techniques

p

The maximum size of aggregates is limited by the thickness of the section

Question ID : 3093241316
Status : Answered
Chosen Option: 3

Q109 The Bernoulli’s equation is applicable to:
Ans 51 unsteady flow

X 2. compressible flow
Z 3. non-uniform flow
2 steady flow

Question ID: 3093241240
Status.: Answered
Chosen Option: 1

Q10 For a fully saturated soil sample, the degree of saturation is:
Ans X 1. 25%

X 2. 0%

v 5 100%

X 4 50%

Question ID : 3093241279
Status : Answered
Chosen Option: 3

Q.111 Calculate the velocity of water flowing in a circular pipe @I@i wetted perimeter laid at a slope of 1 in 100, pipe is
running full. (Take rugosity factor of 0.01)

Ans X1 4m/fs
v 2 10m/s
X3 2mis
X4 3mls

Question ID : 3093241256
Status : Not Answered
Chosen Option : --

Q.112 Calculate the number of sleepers required for constructing a railway track of 640 m long broad gauge section when the
sleeper density is M + 5.

Ans X1 600
< 2300
v 3 900
X 4 50

Question ID : 3093241338
Status : Answered




l Chosen Option : 1

Q113 Which of the following statements about volume batching is true?

Ans 3 1. It facilitates accuracy in proportioning of materials.

v 2

It is not easy to measure granular materials in terms of volume.
X 3. Problem of bulking is negated.
7< 4. Tt is a good method for proportioning.

Question ID : 3093241321
Status : Answered
Chosen Option : 1

Q14 Prafafea & ¥ g 9oR &1 wwored & gl & R o7 ¥ aue a6 2
e X wife

X 2. FHeATA

X 3. ofTAET

v deaa

Question ID : 3093241246
Status : Answered
Chosen Option : 2

Q.115 Which of the following is NOT considered in unit rate analysis of an item of a building?
Ans  of 1. Contingency expenses

X 2 Present rate of skilled labour

/< 3. Contractor’s profit

X 4. Present rate of materials

Question ID : 3093241222
Status : Answered
Chosen Option : 1

Q116 30 knvh ¥ Refiger o1t % fore oo oot ke # arpeifir e wrard vt @i
Ans X 1. 45-80 m

~< 2 90-110 m

V'3 30-60 m

X 4 20-40 m

Question ID : 3093241349
Status : Not Answered
Chosen Option : --

Q117 zzr 1 = 77 5 & w07 7 AT g€ R AR A A o o Reew & e o @ Rew @
oI &, T FEer 87




Ans

X 1. FeFEAaT
X 2. FTeIar

v o e
Ao gefrETar

Question ID : 3093241292
Status : Answered
Chosen Option: 3

Ans  of 1. more dry density

X 4 same dry density

/< 2. same optimum water content

/< 3. more optimum water content

Q.118 Compared to standard Proctor test, the results of modified Proctor test yields:

Question ID : 3093241286
Status : Answered
Chosen Option : 1

X 2. FT 0T
X 3. o ST
v 4 ofaeET e

T T # q P W e 1w SR A E
e X1 gufes wlear 3 a=ar

Question ID : 3093241219
Status : Answered
Chosen Option : 4

B

v 1. greater than 1 for lower tyre pressure (< 7kg/cm?)
X 2 less than 1 for lower tyre pressure (< 7kg/cm?)
< 3. equal to 1 for lower tyre pressure (< 7kg/cm?)

#< 4. equal to 0 for lower tyre pressure (< 7kg/cm?)

Q120 The yalue of rigidity factor for design of flexible pavement is:

Question ID : 3093241346
Status : Answered
Chosen Option : 1

L

Q121 faaf 7w 7o & FT FAegat & HiEaew % R amaaw gt sehes 1 sgwas A S g




Ans %1 g ppm
X 2.5 ppm
v 3 4 ppm
X 4 3 ppm

Question ID : 3093241263
Status : Answered
Chosen Option: 3

Q122 The plinth projection for the wall is calculated as:

Ans J 1.
half the difference between breadth of plinth and breadth of wall

/< 2. difference between breadth of plinth and breadth of wall

/< 3. difference between plinth area and carpet area

X 4
difference of breadth of damp proof course and breadth of plmth;%ll

Question ID : 3093241236
Status : Answered
Chosen Option: 3

Q.123 Normally. in estimating, the value of a property at a particular year qﬁiﬂe@ﬁf oﬁg@ cost minus amount of
depreciation up to previous year is known as:

Ans 1. selling price

/< 2. capitalised value
v 2. book value
/< 4. market value

Question ID : 3093241231
Status : Answered
Chosen Option : 2

Q.124 A column of effective %ht 'é'mﬁﬁ@bjeﬂed to an axial force of 500 kN together with a bending moment of 20 kN-m.
Calculate the leastminimum cross sectional area of the column required.

1 236 mm?
& 2. 22346 mm?
X 3 42346 mm?
X 4 62346 mm?

Question ID : 3093241275
Status : Answered
Chosen Option : 3

Q125 Yirhich of the following is used in soil classification?

Ans




< 1. Prandtl Chart
v 2 Plasticity chart

X 3. Newmark’s chart
/< 4. Cassagrande’s chart

Question ID : 3093241303
Status : Answered
Chosen Option : 2

Q.126 Timber lintels strengthened by the provision of mild steel plates at their top and bottom are called:
Ans 1. lacquer lintels
v 2. flitched lintels
X 3. trief lintels
X 4. matic lintels

Question ID ::3093241216
Status : Answered
Chosen Option : 2

_—

Q127 “yialye of a building’ indicates:
Ans o 1 present value of a building
/< 2. original cost of construction
X 3. loan taken for the construction of building

/< 4. annual repair cost

Question ID : 3093241218
Status : Answered
Chosen Option : 2

@128 Quantity of a steel baria bar bending schedule is calculated in:
ans of 1 kilogram

A 2. gram

X 3. metre

2 4 number of full length steel rods

Question ID : 3093241234
Status : Answered
Chosen Option: 1

Q129 The pressure, exerted by water on soil through which it percolates, is called:
Ans 1. passive pressure

/< 2. radial pressure

3. seepage pressure




/< 4. active pressure

Question ID : 3093241302
Status : Answered
Chosen Option : 3

Q130 The primary waste water treatment is aimed at:

Ans X 1. settlement
#< 2 filtration
/< 3. coagulation

v 4 sedimentation

Question ID : 3093241255
Status : Answered
ChosenOption : 2

_—

Q131 gt woveier e &g & 0 T @1 g T g8 woE H SUE A TS WA B
Ans "
X 1. AF-31T

X 2 At
v grfaE
X« wem-fomrs

Question ID : 3093241247
Status : Answered
Chosen Option : 3

_— =

°-13zmmwﬁﬁwaﬁs@m(mﬂmmm
e X125 3 3%

X223 25%

V317 T2.0%

X4 3 FY%

Question ID : 3093241339
Status : Answered
Chosen Option : 4

Q.133 On which of the following is the sedimentation analysis of particle size distribution based?
Ans 1. Kennedy law
/< 2. Darcy’s law

/< 3. Khoslas Law
v 4 Stokes’ law

[ Question ID : 3093241291




Status : Answered
Chosen Option : 4

Q.134 According to the Indian Standard Soil Classification System, silt is symbolised with letter:
Ans x 1. 98
v2M
X3 G
XS

Question ID : 3093241293
Status : Answered
Chosen Option : 2

Q.135 During hydraulic design of sewers, if D is the diameter of upper circular portion, the overall depth of a standard egg
shaped section, is:

Ans X1. D
X 2D
X3 1.25D
v 4 1.50D

Question ID : 3093241259
Status : Answered
Chosen Option : 4

Q136 The ratio of lateral strain to the linear strdin i§ called:
Ans ¢ 1. Modulus of Elasticity

v Poisson’s ratio
7< 3. Modulus of rigidity
/< 4. Bulk modulus

Question ID : 3093241311
Status : Answered
Chosen Option : 2

Q.137 Which of the fol%m%e major cause of flexible pavement failure by frost heaving?
Ans - . Impron :E""

oading

< 3. Improper mixture

« 4 Presence of groundwater

Question ID : 3093241348
Status : Answered
Chosen Option : 3

Q138 The difference between liquid limit and plastic limit of soil is called:
Ans 1. liquid index




/< 2. consistency index
3 plasticity index
7% 4. shrinkage index

Question ID : 3093241299
Status : Answered
Chosen Option: 3

Q139 Which of the following method is NOT used to determine water content in soil?
Ans X 1. Alcohol method

« 2 Static cone penetration method

X 3. Sand bath method

/< 4. Oven dry method

Question ID : 3093241301
Status :"Answered
Chosen Option : 2

Q.140 When rapid hardening cement is tested for fineness in terms of specific surface by Blaine’s air pﬁm@ﬁ@ﬁw._ﬂw
IS: 4031 — 1988, the specific surface must NOT be less than:

Ane X1 400 mke
X 2 375 mi/kg
v 3 325 m¥ike

X 4 225 m?/kg

Question ID : 3093241209
Status : Not Answered
Chosen Option : --

Q141 1 a triaxial compressi(gi% difference between two major stress is called:
Ans X 1. in situ stress

X 2. confiried stress

X3 r@g}%esg

v dm%r stress

Question ID : 3093241297
Status : Answered
Chosen Option : 4

Q.142 A steel plate is 25 cm wide and 10 mum thick. If the diameter of the bolt hole is 15 mm, the net section area of the plate
is

Ans X 1. 82.65 cm?
v 2 235 cm?

< 3 29.6 cm?




X 4 5098 em?

Question ID : 3093241273
Status : Answered
Chosen Option : 2

Q.143 v 37z 97 &, 508 G = 1.676 m, 299 #1071 = 1°80" sk FGT S ¥=w d = 133 cm &, ¥ fw
FTEeT o5 L &7 71 forger ghem?

Ans - X'1.19.410 m
X2 47162 m
X3 35678 m
v 4 29.950 m

Question ID : 3093241337
Status : Answered
Chosen Option::-1

—

Q144 1 fass per unit volume of soil is defined as:
Ans 1 unit weight

/< 2. specific gravity

X 3. density index

« 4 density

Question ID : 3093241300
Status : Answered
Chosen Option : 4

Q145 yravery W B o PR A8 Fa o7 sefiE e §2

I e gfeaer

. $2 FFE & gfeRT
. =Ter gfeared

Ans X atkdl
X 2 1l 3
Xs 3k
v s

Question ID : 3093241210
Status : Answered
Chosen Option: 1

Q.146 100 m & fr=ar & &faF 5% W 9= &7 A a3 Soaae 7 e wy BaEa & afy 50
km/h & 3 0.15 % T wvUT ¥ fiEs e T WE ¥ Rwfaw #

Ans  X1.0.99
<2 0917




V'3 0.047
X 4 0.919

Question ID : 3093241342
Status : Answered
Chosen Option : 3

Ans

Q.147 The value of runoff coefficient ‘C’ for bituminous and cement concrete pavement lies between.

X 1. 0.4 and 0.65
X 2 0.3 and 0.58
#< 3 0.35 and 0.70
v 2 0.8 and 0.9

QuestiondD.: 3093241347
Status: Answered
Chosen Option: 3

Ans

X

_—

Q148 In estimation, the quantities of the following items are the same in:

painting for fully panelled door and partly panelled and partly g%;zﬂ&

v 2. plastering and white washing
#< 3. wood work and painting on wood work.

X 4. damp proof course and plinth wall

Question ID : 3093241237
Status : Answered
Chosen Option : 2

Ans

v 1 Differential manometer
< 2. Piezometer

< 3. Single column manometer
< 4 U tube manometer

Q.149 The device used to measure the pressure difference betwee_géwo points in the same or different pipes is known as:

Question ID : 3093241239
Status : Answered
Chosen Option: 1

Ans

F g &7

X ETATET 9T
v 2 et afrsetor
< 3 Fmfees TiseIoT
X 4 Ydrem afrssor

Q.150 3fiezifer ARG &, U A-gg-RHs Tdg T & & [T, FHE AR F FR T S TS TR0




Question ID : 3093241203
Status : Answered
Chosen Option: 3
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Ans x1.:|'gg"‘|:|'[
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£ 3. e g
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Question ID : 30932&

Q.2 ‘3’ TeHvoT Hi 3R & T &?
Ans XI%EIT
X 2 fm L 2
/5 3. fadwo
o 4 wdm

Question ID : 3093241363
Status : Answered
Chosen Option : 4

Q.3 ‘wifa’ # fre Suwnt o vt g 87
Ans  of 11
/o2ty

X3
F R 'S

Question ID : 3093241360
Status : Answered
Chosen Option: 1

Q4 F=dAdyxg 2% I AT 87
Ans &

o 2 afrE

X 3.z

K s

Question ID : 3093241359
Status : Answered
Chosen Option : 2

Q.5 ‘R R T argre H ilehifh @1 G arf @
Ans 1 o gy & At e g
o 2. ifes T @ g




5 3. e T & srfdven s g
A 4 0 THy A o g

Question ID : 3093241354
Status : Answered
Chosen Option : 2

Q.6 ‘T o R gi:
Ans X1~W
K 2T
VN

5 4. g

Q.7 IR A 9 91 gHH 8?7
Ans X13—&'

o 2 agen

X 3.

5 4. st

Question ID : 3093241356
Status : Answered
Chosen Option : 2

Q.8 ‘Hare’ @ | frde ghm:
Ans  of 1 TiaE

K2 gq+ar

X 3. 99 +dre

X4.¥|1T+En?:

Question ID : 3093241355
Status : Answered
Chosen Option: 1

Q.9 ‘a4 e e v i 87
Ans  of 1 om

X 23

K3

r R

Question ID : 3093241361
Status : Answered
Chosen Option : 4

Q.10 =1 & § o= 41 2res SAfeRT 82

Ans




F R
W 2w
5 3.
M 4.8wR

Question ID : 3093241357
Status : Answered
Chosen Option : 2

Q.11 A= & § &= 91 Usg aH &2
Ans XLER

K 2w

W 3. o

& awsa

Q.12 ‘Hep’ <Rl I &:
Ans X 1 TR
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Question ID : 3093241365
Status : Answered
Chosen Option : 4

Q.13 ‘A7er o T qETar w1 aEt aref & @

Ans X1 T g1
o 2. 5onar sricity wae
25 3. TR AT
< 4. frefrer

Question ID : 3093241353
Status : Answered
Chosen Option : 2

Q.14 ‘Mo fFg 9= &1 g 87

Ans  of 1 saars
5 2. sifraraes
X 3. gerefare
5 4. afvaraes

Question ID : 3093241362
Status : Answered
Chosen Option : 3




Q.15 ‘sfaera @ G4’ & fAQ geh 2reg ghm:
Ans 1 ARe

o 2. e

5 3. dRiforen

5 4. ety

Question ID : 3093241358
Status : Answered

Section : General Knowledge

Q.1 #igar seAds ikt ft qwae fie TR 9o w0 & e v 7 fordt i ofi?

Ans x1.1§a
X2
o 3. R
£ 4 s

Q.2 fay f ga@ «<ft 7€, A 78, A=fafaa § @ g 2a @ gex ag<dt
Ans X 1. gfRior s

25

5 3. gmrfern

Xim Q}

Chosen Option : 2

¢
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Question ID : 3093241367
Status : Answered
Chosen Option: 1

Q.3 fA=faf@ad a g afd of
Ans  of 1 1045

22,1949
K3
5 4.1950

(IMF) Y T Y 71 ofi?

Question ID : 3093241377
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Q.4 RA Y AT derarar @ Reeht Turialta a= S aivon fra af g5 o2
Ans  of 1 1011

5 2.1905

31912

5 4.1906




Question ID : 3093241375
Status : Answered
Chosen Option : 1

Q.5 WRd TRFHR 7 Aife smahr H wuro=n wa i A2
Ans  of 12015

£ 2.1948

K 3.2016

/K 4.2014

Question ID : 3093241373
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Q.6 3MiieT 2019 dh, R & J&d <Ararefier wi §?
Ans o 1 o i

X 2. IR, g, 8w

& 3. g o

5 4. e e

Question ID : 3093241378
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Q.7 fored A YRA & ST UT?
Ans X 11945

52,1940
X 3.1946
o 21042
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Question ID : 3093241370
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Q.9 onf¥a o1 qregTery fAfafaa d @ fora g & /e 82
Ans X 1. R

5 2. wefen

o 3. i




4 darn

Question ID : 3093241380
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Question ID : 3093241369
Status : Answered
Chosen Option : 4

Q.13 ¢S A& @ 321 7 UTg ST @2

Ans X1~
5 2. aié
o 3. e e
R i
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Ans X 1 AemRaR
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Question ID : 3093241392
Status : Answered
Chosen Option : 4

Q.2  Select the Venn diagram that best represents the relationship between the given set of classes of human beings.

Females, Mothers. Human Beings

Ans

X<




Question ID : 3093241391
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Q.19 A man is facing south. He then turns 90° to his left, then 270° to his right and finally 43° to his left. In which direction is

he facing now?
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